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1. �:��	��[4����������	&���� �1 

���"%��,$'����	�*+- 
(#K�(��	�*) 

= 
$
��>��%��,$'����	�*���%)� �(��	�* 

$
��>��%��,$'����	�*���%)� �(�#K 

���"%��,$'����	�*+�'  

- #���D� '����0(��

�   = 1,000 / 1,800 = 0.56 #K�(��	�*  

- #���D��)�+�(,$( '����0(��

�  = 1,000 / 4,000 = 0.25 #K�(��	�* 

���"%��,$'����	�*���%)�  

- #���D� '����0(��

�   = 6,000 / 1,800 = 3.33 #K�(��	�* 

- #���D��)�+�(,$( '����0(��

�  = 6,000 / 4,000 = 1.50 #K�(��	�* 

��������%������
�� 
 �)? �#/�%����������������"'��(����%���#	)���#���D�
�	�*+-�	�*���"%��,$'����	�*���%)�  1 �	�* (6,000 $
��>��)  *
��
?�  ��+*'�@����#K�)�,$'
,�%������������'��"�.	�=	#��>�$���@���
 =0',$'+-#���D� '����0(��

�.	�+�(,$(�)���0(��

�
��(�%
  3.33 #K�(��	�*  .	� 1.50 #K�(��	�* ���	@�*
  
 

2. �
�=*+������#�
��[  

�(�:�?��	�*+-  
( ���(�#K) 

= 
�����	�*+- ( ���(��	�*) 

���"%��,$'����	�*+- (#K�(��	�*) 

�0	�(����%����������(�:�?��	�*+�'  

- #���D� '����0(��

�   = 18 / 0.56 = 32.40  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = 18 / 0.25 = 72.00  ���(�#K 
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�0	�(�����
���
���������(�:�?��	�*+�'  

- #���D� '����0(��

�   = 17 / 0.56 = 30.60  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = 17 / 0.25 = 68.00  ���(�#K 

�������":   

1) ��������%�#/�%��
&%�������"'��(��	�*���"%��,$'����	�*���%)�  1 �	�*  

*
��
?�  �(�:�?��	�*���%)� ���(����)����
?��*)�� � #K�)� 0 

2) %@���*,�'����	��"�������'� � #K�)� 0 �)�(���(�%
 �(�:�?��	�*+- 1 �	�*  *
��
?� ��

+*'�(�:�?��	�*+-�������?�#K�)� 1 ��(�%
  �(�:�?��	�*+-�(�#K �
%*'���(�:�?��	�*+-�(��	�* 

 

3. �
��##U��
��[ 

�(�+--L� 
( ���(�#K) 

= 
�@�����
����(��	�* x $
��>��%��,$'����	�*+-�(�#K x �
����(�+--L� 

1,000 

�0	�(����%����������(�+--L��(�#K��%%��,$'����	�*+�' 

- #���D� '����0(��

�       = (60 x 1,800 x 3.08) / 1,000 = 332.64  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = (60 x 4,000 x 2.91) / 1,000 = 698.40  ���(�#K 

�0	�(����%����������(�+--L��(�#K��%%��,$'����	�*���%)�   

- #���D� '����0(��

�       = (11 x 1,800 x 3.08) / 1,000 = 60.98  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = (11 x 4,000 x 2.91) / 1,000 = 128.04  ���(�#K 

�0	�(�����
���
���������(�+--L��(�#K��%%��,$'����	�*+�' 

- #���D� '����0(��

�       = (60 x 1,800 x 2.86) / 1,000 = 308.88  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = (60 x 4,000 x 2.71) / 1,000 = 650.40  ���(�#K 

�0	�(�����
���
���������(�+--L��(�#K��%%��,$'����	�*���%)�   

- #���D� '����0(��

�       = (11 x 1,800 x 2.86) / 1,000 = 56.63  ���(�#K 

- #���D��)�+�(,$( '����0(��

�  = (11 x 4,000 x 2.71) / 1,000 = 119.24  ���(�#K 
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4. ���4��4��������������������������A�&��##U�   

�'��"��)��	)%�	)���+*'��% 
%��	*%��=	��/�@���(��+--L� 

= 
�(���(������'��"�%��=	��/�@���(��+--L�
��%%��,$'����	�*+�'.	��	�*���%)�  

�'��"�%��=	��/�@���(��+--L� 
��%%��,$'����	�*+- 

= 
�@������(��+--L��)�,$'�(�#K x  

�'��"���	)��,�%��=	��/�@���(��+--L� 

>*��)� 

�@������(��+--L��)�,$'�(�#K = (�@�����
����(��	�* x $
��>��,$'����	�*+-�(�#K)/1,000 

�'��"���	)��,�%��=	��/�@���(��+--L�  = Σ(�
*�(���$�?���	��x �'��"�=	��+--L����#���D�  

                                                                  �$�?���	��) + �'��"�����(� + �'��"���  �@���(��                                                                

            = [(0.70x2.29) + (0.20x2.21) + (0.05x0.05) + 

                    (0.01x4.12)+ (0.02 x 2.63)] + 0.37 + 0.44   

           = 2.95  ���(���(�� 

��+*' 

�'��"�%��=	��/�@���(��+--L���%%��,$'����	�*+�' 

- #���D� '����0(��

�            = (60 x 1,800 x 2.95) / 1,000 = 318.74  ���(�#K 

- #���D��)�+�(,$( '����0(��

� = (60 x 4,000 x 2.95) / 1,000 = 708.31  ���(�#K 

�'��"�%��=	��/�@���(��+--L���%%��,$'����	�*���%)�   

- #���D� '����0(��

�      = (11 x 1,800 x 2.95) / 1,000 = 58.44  ���(�#K 

- #���D��)�+�(,$( '����0(��

� = (11 x 4,000 x 2.95) / 1,000 = 129.86  ���(�#K 
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5. ���4��4����������������������������
���Z�=���1!��������=�1   

�'��"��)��	)%�	)���+*'��% 
%��	*%��#	(��%q�: CO2 

= 
�(���(������'��"�%��#	(��%q�: CO2  

��%%��,$'����	�*+�'.	��	�*���%)�  

�'��"�%��#	(��%q�: CO2  
��%%��,$'����	�*+- 

=
�@������(��+--L��)�,$'�(�#K x �(�%��#	(�� CO2 

x ����:�?�������� �����*�� 

��+*' 

�'��"�%��#	(��%q�: CO2 ��%%��,$'����	�*+�' 

- #���D� '����0(��

�         = (60x1,800x0.55x0.85)/1,000 = 50.49  ���(�#K 

- #���D��)�+�(,$( '����0(��

� = (60x4,000x0.55x0.85)/1,000=112.20  ���(�#K 

�'��"�%��#	(��%q�: CO2 ��%%��,$'����	�*���%)�   

- #���D� '����0(��

�     = (11x1,800x0.55x0.85)/1,000 =9.26  ���(�#K 

- #���D��)�+�(,$( '����0(��

�= (11x4,000x0.55x0.85)/1,000 = 20.57  ���(�#K 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


